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run_13066030 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13066030 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Tue Mar 6 07:31:28 2012

ADC for FGT RDO=2,ARM

=0,APV=17 |

ADC-ped

2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM

=0,APV=18 _ §

1000

2000 3000 40(
raw ADC

[ ADC for FoT RDO=2.ARM:
—

—0APV=19__ |

0 1000

2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM

1=0,APV=20

0 1000

2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM

=0.APV=21 |

ADC-ped

=
1)

0 1000

2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

APV channel

= 4000 p—
5] =
s =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
=
500 fm—
=
=
==
= i
0 20
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
- 4000
2 5
T
9 3500 === - - -
<

3000

2500

2000

1500

1000

500

0

B 0 L L L L LD LA i

[ ADC for FGT RDO=2,ARM=0,APV=19 }

" 1
60 80 100 120
APV channel

60 80 100 120
APV channel

- 4000 p—=
] = .
& = .
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 f=——
=
1500 f=——
1000 fP=——
=
500 f=—
=
0 ==
= i
20
[[ADC for FGT RDO=2,ARM=0,APV=20 }
- 4000 p—
5] =
oo =
Q 3500 F=— EE TR T
< =
3000 - === seleee
2500 = P
2000 f=—y- === - - - B R
=
1500 f=—| e
1000 p=—|- - - - - - - BRI
=
=
500 fm—rt---- - - s
=
Of—f=------ sl
=
=
0

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

40

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.4 .4 s d .0

10

10

10

10°

10




run_13066030 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD

Tue Mar 6 07:32:39 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

20 40 60 80
APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=19 |

120
APV channel

MPV (ADC-ped)

i i
100 120

-500

20 40 60 80
APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13066030 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Mar 6 07:33:13 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

90 b/

80 P=

RMS (ADC-ped)

70

60

50

40

30

20 |

10

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}
40

35

RMS (ADC-ped)

25

—
%0 [E—

=

r—

20

15

10

- CERIICCERIIOCERNIIC]

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |
Y T T T T T T T TS TTTTTTT T eI TTTTTTT T T e T T T e T

RMS (ADC-ped)

APV channel

50

40

RMS (ADC-ped)

30

20

10

ST

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel




run_13066030 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Tue Mar 6 07:31:32 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

=2,Di

IN=

40 2012

b

ime
:32

Tue Mar _6 07

0 1]

run_13066030_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13066030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Mar 6 07:33:14 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13066030 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Tue Mar 6 07:31:33 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

3000 4000
raw ADC

0 1000 2000

[ADC for FGT RDO=2,ARM=1,APV=8 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=1,APV=9 l

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . I . . . I . . . i . . . I . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= I I i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... .0 RN el

10

10

10°

10

10°




run_13066030 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Tue Mar 6 07:32:40 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i
80 100 120
APV channel

20 40 60

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Mar 6 07:33:14 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

180 [+

160 fim—

140

120

100

80

60 [

40

20

0

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

140 |-

[
120 P

100

=
20 =

60

40 |

20

0

i i i i
20 20 60 80 100 120

APV channel

RMS (ADC-ped)

140

120 [

100 f—

80 |-

60

40

20 |+

I
120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

20 40 60 80 100 120
APV channel




run_13066030 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2CD

Tue Mar 6 07:31:37 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

[ 1000

2000 3000 4000

raw ADC

[[_ADC for FGT RDO=2.ARM=1.APV=13 |

-
°
[
Q
ja}
<
10°
10
10
il
1
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=1.APV=14 ]
—

1
3000 4000
raw ADC

1 1
1000 2000

[ ADC for FGT RDO=2,ARM=1,APV=15

1
3000 4000
raw ADC

1 1
0 1000 2000

[__ADC for FGT RDO=2,ARM=1.APV=16 _§

-ped

Al
U

0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=L,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

< AT A A

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAAGNARRARRIATENATENATENAG]

APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=16 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.5 .8 L h o L E

10

10

10

10

10




2CD

2,asmb

ISC=

=2,Di

IN=

41 2012

b

ime
:32

Tue Mar _6 07

12}

run_13066030_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=13
=12
=15
=16 |

1,APV
1,APV
1,APV:
1,APV

2,ARM

LARM:
2,ARM
2,ARM

2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13066030 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Mar 6 07:33:15 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

1

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

5 E
& T
Q .
a T
< :
%] 0.8
2 E
3 :
06 [
0.4 |-
[
02 [
—
o . . i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

APV channel

[ADC RMS for RDO=2,ARM=LAPV=15__}

3 M=
3

8 35
<

%]

3 3

['4

. . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

35

RMS (ADC-ped)

25

i3

0.5

20 40 60 80 100 120
APV channel

OOEH:&FHﬂﬂ:HFﬂEI:"HH[IHIIH11IHI‘I]1IH




run_13066030 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2CD
Tue Mar 6 07:31:41 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13066030 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD

Tue Mar 6 07:32:42 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Mar 6 07:33:16 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13066030 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Tue Mar 6 07:31:42 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=1 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=2 }

2000 3000 4000
raw ADC

1000

[ADC for FGT RDO=2,ARM=2,APV=3 }

ADC-ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=2,APV=4 l

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=0_}

= 4000 p—
] = .
& = 2
Q 3500 f=—|- o - - | - of e i
< = 8
3000 P=—|- ===} -fof -2 q -
= 8
2500 p=—|"" """ [ [~"1:1"""""" o
= 8
2000 f=—|- o= =} -fef oo a g e
= 5
1500 = |- o= == f o b f oo fid e
1000 P=r—|- A= - - f - - f 424
= 8
= 8
P70 P I A S o
= 2
= 5
o=
= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm—---{-
< =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 pm—---1{-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
e
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o ==
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

o . . R

10

10°

10

10

10°




run_13066030 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Tue Mar 6 07:32:42 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

0
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=2,APV=3__}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o A
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13066030 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Mar 6 07:33:16 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

80

70

RMS (ADC-ped)

60

50

40

30

20

10

0

o%rl]lrﬂllrﬁllm H1II|’|1|[I‘I

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

100 |-

RMS (ADC-ped)

80 |+
60 [-

40 I+

20

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

B 100 [
e L
%) 6

a -
< l—
0

2 80 |-
x L |

60

40

20

°'1'H—'—H—f—"l" T

APV channel

[CADC RMS for RDO=2,ARM=2,APV=3__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

160

140 f=

RMS (ADC-ped)

120

100

80

60

40

20

i
120
APV channel

0




run_13066030 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Tue Mar 6 07:31:46 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




3BC

3,asmb

ISC=

=2,Di

IN=

44 2012

b

ime
:32

Tue Mar _6 07

51

run_13066030_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

2,APV:
2,APV:
2,APV:
2,APV:

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13066030 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Mar 6 07:33:17 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13066030 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3CD
Tue Mar 6 07:31:48 2012

ADC for FGT RDO=2,ARM=2,APV=12__§ [ ADC for FGT RDO=2,ARM=2,APV=12 |

4000
3 E 10°
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=— 10
=
2000 f=——
=
1500 f=——
1000 pP=—— 1
=
500 fm——
=
=
E
= i = I i i i i
1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=2,APV=13 | [ ADC for FGT RDO=2,ARM=2,APV=13 "}
+0° - 4000 p—
B 2 = . . H 5 5 g
= = =
(8] Q —
8 8 3500 =
< < =
3000 f=—
2500 fm— W
2000 fm/——
=
1500 f=—
= 1
1000 f=——
=
500 f—
=
0f=—
i i i E_. . . i . - - i - - - i - - - i - - - i - - i 10"
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=2,APV=14 | [ ADC for FGT RDO=2,ARM=2,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
1) =
Q 3500 F= a0
% =
3000 f=—
=
2500 =
=
2000 fm—
000 b= 1
1500 f=——
1000 fP=——
=
500 f— )
= 10
=
g ==
” i BHE3E88 = i i i i i i
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=2,APV=15 |
4000 2
B = . . . 10
e = .
Q 3500 f=—
< =
3000 f=—
2500 = 10
2000 f=—
=
1500 f=——
1000 pP=—— 1
=
500 f[=—
=
=
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2.ARM=2.APV=16 | [ ADC for FGT RDO=2,ARM=2,APV=16 }
= 4000 p=
] = . . . . . .
o =
Q 3500 f=—-- -
< = 10
3000 f—---
2500 f=— - - -
=
2000 fm— - - -
= 1
1500 f=—- - -
=
1000 f=—---
=
500 fm— - - - a
= 10
) =
E_. . . i . . . i . . . i . . . i . . . i . . . i .
3000 4000 0 20 40 60 80 100 120
raw ADC APV channel



run_13066030 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Mar 6 07:32:44 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13066030 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Tue Mar 6 07:33:17 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

RMS (ADC-ped)

o o oo P o o pre
Y SR : SR 41 N e o S
P o o 2000 1 T I R, SETOPReRS oo ST
) SR T J [ R L 2 N

o [ oo R R ey & L by e

. . . ; ;
20 40 60 80 100 120
APV channel

of

[ADC RMS for

RDO=2,ARM=2,APV=13 }

RMS (ADC-ped)

o B R gt Rl L S el R ] R oo i SRS
10 | E=—=05055009050500000045550505505055050509505P5530050505505050550539 Bosoo|b|loscossos0s00s0sdbecs0sons0sass0s00s0s0dbosas0ssasassssaldfbedbecsooss
= i i i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for

RDO=2,ARM=2,APV=14 |

RMS (ADC-ped)

APV channel

[CADC RMS for

RDO=2,ARM=2,APV=15 |

RMS (ADC-ped)

60

50 PR e e e TP PR RPETE R R TETEPPPIPE TP R PEPEPE R PETEPRETD TR EREPEPEPEE REPEPRE

T TR R RSN N S S A S S
30 [r

&) [E=={peeoroscesosconanod peoooc00000000500000004 fpooocos0000s00000000004 Bo009000000050000000008 Poooco0s00000000000500d Bo009000000050000000008 Booocoos

i
120
APV channel

[[ADC RMS for

RDO=2,ARM=2,APV=16 }

RMS (ADC-ped)

60 80 100 120
APV channel

°TII1|I1H|HII




run_13066030 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3CD
Tue Mar 6 07:31:52 2012

ADC for FGT RDO=2,ARM=2,APV=17__§ [ ADC for FGT RDO=2,ARM=2,APV=17 |
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500
10°
0

[ 1000 2000 3000 4000
raw ADC APV channel

[ ADC for FGT RDO=2,ARM=2,APV=18 | [ ADC for FGT

4000
10

3500

ADC-ped

3000
2500
2000 f—

1500

1000

500

0

I " 1
3000 4000 20 40 60 80 100 120
raw ADC APV channel

1 1
0 1000 2000

[ Apcfor Fet RDO=2ARM=2APV-19 | [ ADC for FGT

? 4000

S,

3500

ADC-ped=
ADC-ped

3000

2500

2000

1500

1000

500

® 10°

2000

3000
raw ADC APV channel

1000

ADC for FGT RDO=2,ARM=2,APV=20

[[ADC for FGT
4000

Py
lw)
o
Tl
NS
>
Py
<
1l
NS
>
T
<
D
N
o
b

3500

ADC-ped

3000

'1TP1IW1TH

2500

2000

1500

1000

500

10

0

= Lboad foaaoca

=
=3

° 1|r|]|r|1|r|1|[|1|r|1|r|]|||1

0 1000 2000 3000 4000 20 40 60 80 120
raw ADC APV channel

Py
O
O
N
p=
Py
<
N

[ ADC for FGT RDO=2,ARM=2.APV=21 ] [ ADC for FGT

p=
T
<]
D
N
[
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

© FE AT A A A A

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

-1l
0 1000 2000 3000 4000
raw ADC APV channel




run_13066030 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Mar 6 07:32:45 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13066030 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD

Tue Mar 6 07:33:19 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

0

i

- CEEEEERNIII000CCEEEERNIII0000EEE]

i
100 120

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

80

70

60

50 |

40 [

30 k&

20 |

10 |

0

1
120
APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

120 |
100 c
80 =
60

40 |-

20 [

APV channel

i

APV channel




run_13066030 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Mar 6 07:31:55 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

[ 1000 2000 3000 4000

[ADC for FGT RDO=2,ARM=3,APV=1 }

raw ADC

ADC-ped

0 1000 2000 3000 4000

[ADC for FGT RDO=2,ARM=3,APV=2 }

raw ADC

ADC-ped

[ADC for FGT RDO=2,ARM=3,APV=3 }

2000 3000 0

raw ADC

0 1000 2000 3000 4000

[ADC for FGT RDO=2,ARM=3,APV=4 }

raw ADC

2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11TI]Irl1|rl1l|'l1lr|1ll'lllrl1|I‘I1I[I1II‘|HI‘I

[ ADC for FGT RDO=2,ARM=3,APV=1 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

° 11‘n11r|1|r|1|[|1|r|1|r|]|r|1|r|1r[|1 II‘|1HI

[ ADC for FGT RDO=2,ARM=3,APV=2 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
80 100 120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=3,APV=3

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80 100 120
APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=2,ARM=3,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

80 100 120
APV channel

APV channel

.. .1 Es.d Ee.d

10

10°

10

10°

10




run_13066030 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 6 07:32:46 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

4 . . . i . . . i . . . i . . . i . . . i . . . i
£22h o 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

ool
Q 20 a0 0 a0 100 120
APV channel




run_13066030 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 6 07:33:20 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

80

70 E

60 |

RMS (ADC-ped)

50
40
30
20

10 =

0

s 140 =  E ETEEEEEEEEE T EEEEEEEEE R EEEEEEEEEEEE e ST
@ . . . . . .

g : :

8

< A7) |=—rco=00c000000000000dh000000000000030000000db0000300[qFecsc0000a0adbggfeecacanaco0om0oncoadbooonomooncanamo0c00m0dboonana000000000000000dbo000R00
2

4 B e N B S 1 & £ B B B i I I N

80 [+

60 [

40

20 |+

i
120
APV channel

0

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13066030 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Mar 6 07:31:59 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

ADC-ped

=
1)

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

3
4
a)
<

10%

I
3000 4000
raw ADC

I 1
0 1000 2000

[ADC for FGT RDO=2,ARM=3,APV=7 }

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=9 |

2000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

1000 e
500 -
o = -
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm— - - - -
< =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— v - - - e e
=
() =nepees
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. 5 .4 Wl A Wl

10

10

10°

10°

10




run_13066030 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 6 07:32:47 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13066030 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Mar 6 07:33:21 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

[

45
40

35

RMS (ADC-ped)

30

1ICEISCNICENICICHENT

25
20 ol . EEERERT & B aEEE (X Lot E AR EEREE R
15

10

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

70

60 |

RMS (ADC-ped)

50
40 [
30 /—
20

10

N N N i
o 20
APV channel

[CADC RMS for RDO=2,ARM=3,APV=8__}

RMS (ADC-ped)

APV channel

[[ADC RMS for

RMS (ADC-ped)

APV channel




run_13066030 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 6 07:32:03 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13066030 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD

Tue Mar 6 07:32:49 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT _RMS 1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 6 07:33:22 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13066030 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Tue Mar 6 07:32:05 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

ADC-ped

=
1)

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=18 _§

3

ADOpeg

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=19 _§
—
3

ADCApedOA

3000 4000
raw ADC

0 1000 2000

[ ADC for FGT RDO=2,ARM=3,APV=20

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=21 _§

3

S,

ADC-peg:

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=3,APV=17 }
= 4000 pry
] =
i =
Q 3500 fF—o------ - - - -
< H
3000 fF—o---------- - -
=
2500 ff—f- - -r e e - -
=
2000 ffF—o---------- - -
=
1500 fF— -« - e e nn -
1000 p— |- === - - - - - -
=
500 ff— - --------- --
=
=
(]S e S =
H i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=18 }
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
= . R I . . . I . . . i . . . i . . . I . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=19 }
= 4000 p=
] =
oy =
Q 3500 f=— -
% =
3000 f=— -
=
2500 =
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
0=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=3,APV=21 .
= 4000
]
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

. 8 . . .

10°

10

10

10°

10




run_13066030 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 6 07:32:49 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT _RMS 1,Timebin=2,Disc=4,asmb=4CD
Tue Mar 6 07:33:22 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

80 P=

70 B

RMS (ADC-ped)

60

50

40

30

20

10

0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=2,ARM=3,APV=20 _}

g 70
i
4}
< 60 =
I o
s :
© 50
40
30 [
20
10 : .
— 8 2
= ; :
0 ¥ — 1 1 1 1 1 1
0 20 40 60 80 100 120
APV channel
[ADC RMS for
=
]
&
Q
o
<3
(2]
=
o

APV channel




run_13066030 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 6 07:32:09 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




5BC

5,asmb

ISC=

=2,Di

IN=

50 2012

b

ime
:32

Tue Mar _6 07

0 1]

run_13066030_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

4,APV:

ARM=4,APV:
ARM=4,APV:
ARM=4,APV:

2,
2,
2,ARM
2,

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13066030 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 6 07:33:23 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13066030 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Tue Mar 6 07:32:11 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=7 }

2000 3000 4000
raw ADC

0 1000

[ADC for FGT RDO=2,ARM=4,APV=8 }

ADC-ped

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=4,APV=9 l

2000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
0fE—
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . . I . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—

% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o
=
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

- 4000 p— - - - - - -
o =
9 3500 f=— - -
< =
3000 f=—- -
2500 [=— - -
=
2000 fm—— - -
=
1500 f=— - -
=
1000 p=—— - -
=
500 fm— - -
=
of—--
= . . i z . . i . . . I . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

.. . d . A

10

10°

10

10°

10°




run_13066030 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 6 07:32:51 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

i
20 40 60 80 100 120

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Mar 6 07:33:23 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

o —
@ X
2 [—
8

2 100 [+
[%]

H ]

80

100

RMS (ADC-ped)

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=7 }

RMS (ADC-ped)

— H
o = i i i i i i
0 20 40 60 80 100 120
APV channel

80

70

RMS (ADC-ped)

60

50

40

30 |/

TR T TR

20 B/
=
O e b b i i i il fpocscosa
o E A i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

i
120
APV channel




run_13066030 FGT_ADC _ 1,Timebin=2,Disc=5,asmb=5CD
Tue Mar 6 07:32:14 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13066030 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Mar 6 07:32:52 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13066030 FGT RMS 1,Timebin=2,Disc=5,asmb=5CD
Tue Mar 6 07:33:25 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




